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(a) 7/11
(b) 4/5

(c) 2/3
(d) All are
equal




If %th of a number is 10 more than the %th of a number then, find the no. |
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4 If a fraction is 7/15 more than the twice of the inverse of
the fraction ,find the fraction ?
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(b) 5/3
(c) 3/4
(d) 4/3
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5A boys was asked to find the value of 3/8 of a sum of
money. Instead of multiplying the sum by 3/8 he divided it by
3/8 and then his answer exceeded by Rs. 55. Find the

correct answer?
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The sum of three consecutive odd natural numbers is 147. ‘
then , the middle number is: |
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(a) 47 ||'
(b) 48 '
(c) 49
(d) 51 ’
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The sum of first 20 odd natural numbers IS equal to :

(a) 210
(b) 300
(c) 400
(d) 100
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| 0 The product of two positive numbers is 2500. If one

number is four times the other, then the sum of the two

numbers is:

TN GATCHS GEATA T [OAHer 2500 31 IR T Eerg@a a ||

T AT §, AT <TG T FHT T & |
w

(a)125
(b) 145 ||
(c) 75
(d) 100
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number of heads anne |s 48
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TEIT 48 Bl (a) 22 |
(b) 26
(c) 20 ,D
(d) 27




The length of a road is one kilometre. The number of
plants required for plantation at a gap of 20 metres

in both sides of the road is:
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Find the number of prime factors in the product of 2512 x ‘

107 x 147
( 2 2512 x 107 x 147 ¥ IqTE H TH@ FTCHT it T&AT 719 Hiforg

@50 |

(b)51 |

(c) 53 n |
(d) NOT




If a number N is divided by 132 then we get 10 as
remainder. If N2 is divided by 12, what will be the

remainder?

Iie T G=qT N #7132 § fawrica fFar Smar g argd 10 9w
fAera 81 < N2 &t 12 & fawrisra R strar 8, av Suwer 14T

e (a)4

|

i

b)12 §

(c) 10
(d)8
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| Find the unit d
. 985325 SR igit of the number 532375+ 819532 +87777 +
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A certain number when successively divided by 8 and 11
leaves remainder 3 and 7 respectively. Find the l
remainder if the same number is divided by 88. ‘
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(b) 29
(c) 88 }
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1 Find the least number of five dlglt which is divisible by
666.
( 6 o= st it TR F9 oA TG ST ST 666 F s &1

(a) |
10656 '







